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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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G3-1

BrE) | GEBIRTIC (B)) | EBE (EAH/#F) | EREE (B/R) | X8 R

06:35 133 60.0 1.296 FA| {Ri%@06:35 BHz (kAMERE)
08:05 133 60.0 1.296 FA| 1BRi%@08:05 B3h (FKA{EREEE)
10:05 133 60.0 1.296 FA| 1B2i%@10:05 B3h (kA{EREE)
12:20 133 60.0 1.296 FA| {Ri%@12:20 Bz (GRAEEE)
2it| 532.0 (%) 240.0 FEWHKEC: 3000.0, PH: 6.4

EREBATHCR AR (200 vs 97.0))

BRIASEPRIERE124.0 ml.

large discrepency for begining water status (76:294.0),

RERERIPH (10.36) 5i&EPH (6.3) REK K, HRE
BEXRERIPH (10.36) 5FMPH (6.5) REK K, HRE
3 [EHECE (1897.0 vs 2596.0) fRE
EYGERPH (10.4) 5i18EE (6.4) REKK, FHE.

LRGERIPH (10.4) S51RBIEN (6.4) RERK, BHERE.

set to 76 ml.




G3-1_0, Day=19 (2025-05-31)
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G3-1

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

06:35 95 60.0 1.296 FA| 1Bzi%@06:35 B3h (KRR
08:05 95 60.0 1.296 FA| 1Bi&@08:05 B3 (KAFERLEE)
10:30 95 60.0 1.296 FA| {Ri%@10:30 Bz (GRAMERE)
12:15 95 60.0 1.296 FA| 1BRi%@12:15 Bzh (RAB{ERSE)
14:05 95 60.0 1.296 FA| {Ri%@14:05 Bzl (GRAEEE)
Bit| 475.0 (5%) 300.0 3Z 3K EC: 3000.0, PH: 6.3

EOREBATHCRIEAEBRZW (127 vs 97.0))

ZRIASEPRIERET9. 0 ml.

REXFEBPH (10.33) 5i&%EPH (6.0) RER K, HFHRE
REXEBPH (10.33) 5FMPH (6.5) REK KA, BFHRE

# [ /KECZE (1915.0 vs 3039.0) RS

ERGEBPH (10.4) 58EE (6.3) RERK, HHE.
ERGEBPH (10.4) S5EEIEW (6.3) REKK, BHRE.




G3-1_0, Day=18 (2025-05-30)
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G3-1

BfiE) | GEBATK (7)) | ERE (EH/f) | ERERE (/R | XS e

08:20 95 60. 0 1. 296 E  BRi%e08:20 Bzl (RAEREE)
09:35 95 60. 0 1.296 (£ =| {Ri%09:35 Bz (REAERESE)
11:25 95 60.0 1.296 |2 =| BRige11:25 Bz (kAEREE)
13:25 95 60. 0 1. 296 E BRige13:25 Bz (GRAERESE)
15:00 95 60.0 1.296 =l {Rige15:00 B3 (RAAERSE)
Bit| 475.0 (5%) 300.0 323K EC: 3000.0, PH: 6.2

EREBRELL TR (0.57 vs 0.63), FAIaER % MAEENEFEEEIKERE

ZRIASERRERES9. 0 ml.

FERSEEBIPH (10.28) 5iZEPH (6.0) REK K, FHRE
BEXRERIPH (10.28) 5FMPH (6.5) REK K, HHRE

BE X i# O] ;R ECEL B Hh k.

HEEIRECZE (1947.0 vs 3498.0) 15
BERE L HEREC/PHIEBRSL, FIRESNMIREL RS
LRGEBIPH (10.4) 5i8FEE (6.0) REKK, BFRE.
LEORGEEBIPH (10.4) S5iREGE (6.2) REK K, HEE.




G3-1_0, Day=17 (2025-05-29)
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